IKIN

H R

CONTENTS

MIEIESL / Test Coupling

SD -HIMIBLSIIEIEE SHIQ - vvvesvve 2o 05
DKO -24°EBRENEERE/ 24° Male CONe w+vvvrrsvversseeessssesssees s 10
JIC =BT A TLGTEIEE/ 37IC +vvveverevesersssensersse s 12
TBFEEEREE TUB@ -vvvrvvresverssessssessses oo 15
CR-ASTEYMBISTIEIE/ CULLING RIQ -+-vvseesvsessesesessssesse e e 17
ORFS-JZIEIZEETIZEIZE ] ORFS -++eveevesereserssersseessesss s 19
BH -BRHRTUIZEIE/ BUIKREAT +++++++++++++vssesssesssesssesss s 22
TooqBB/ TEE  vvvevsveseeresssessess et 27
BLBZRTN/ OtREr SEITEs -+ +wseessresseesseesseesseitsei L 30
90°F0 A5°TIYET]/ GOKAS EIDOW ++++vvssevssseessessssssssessssess st 32

EFIFIESL / Pressure Gauge Connector

TP-SZEHEMTEIESL/ Direct Pressure Gauge CONMECEOr « s 34
S GNIBLTIIERE SHUGH oo 36
DKO-2AMEBRENLEIZE/ 24° Malle CONE --rrrverseressoerseessoessesssessoes oottt 38
BH‘BEWED\-EE [ BUIKRI@AQ ++++++++++++veessersse s 40
Bt [ESITEIEL/ Other Pressure Gauge CONNECtOr « - wwririesissesissiesessess st 42
Q0 KM A5 TN/ OBIASE® EIDOU -++wrvrvssssssssssssssseeeesesssseess i 43

ERE SR BBk / Hose Assembly and Fitting

e R pIERY/ Hose GSSEIMBY 11+ 44
s kR / Hose FIEEIIIG «++eveessesessssssss 46
Q0°FN A5°TTYEIB]/ GO &AL EIDOUS w++++wreswersssessssesssssssssas st 51

ikin hydraulic -1- —IRRE



IKIN

MEELFE=E RN / General Information

>>RARSEL / Technical data

Fmfig: BTaUNENREED. #I5. SEMEERS P,

Application: IKIN test couplings are applied for the monitoring and control of pressure as well as the ventilation.

T{EEN: &ATIEES 63Mpa
Max.Working Pressure: 630 bar.

[FH38): ER 1.0718 BN, 304 AREEHN. 316L AN
Metal Parts: Free cutting Steel 1.0718, Stainless Steel 304,Stainless Steel 3161

B TRBR (TMFEEE: -200CE+100°C)
5 (TYERE: -20°CE+200°C)
=RZABER (TIERE: -40°CE+150°C)
MR (HRIEEKIEL)

Seal Material:

NBR (Temperature range -20°C to +100°C)
FKM (Temperature range -20°C to +200°C)
EPDM (Temperature range -40°C to +150°C)
Low temperature : -50°C on request

FELE: BiF. FHRAZNED)

Surface treatment: Zinc,Zinc Nickel(CrVI-free)

TENRR: ERTREBREMET YREAIHSE,
BTFSESHEERIANER, BETERSI) #A, FEIT8R DX,
Media: Suitable for hydraulic oils and other Mineral oil based fluids,
When used with gas or other fluid medium, please confirm with the factory before ordering and indicate

on the order.

B iEKB! Protection Caps

Rz 7 fang HESE EEE
Round Cap Hexagonal Cap Universal Cap Plastic Cap

—IRRE -2- ikin hydraulic



IKIN

=il 5B/ Product Order Description

FENFmIEEREE: R +BS+HlE, BikiERE S -iErINFEE~m.

The complete product ordering information includes: product name + Part number+

specification , please select the product according to the order of product name — part number
— specification.

¢ & FmER
S F—ESAERTRIVEE, RITEEENTEEE, #H FRSRRK.
AR - ﬁ—#ﬁ:ﬂ%@éﬁilﬁﬁ’ﬂfmﬁ, ARU#HEEF RN AR,

* o o0

*

Product name

Part Number : The same model represents the same structure, size and working pressure of the

product, please refer to the tables for details.

Specification : The same product part number includes different specifications.

DS SR

Test Coupling Specification Selection

Z-N-R-IKIN-0-0

E/ R

Material/Surface Treatment
Z=FB{ER%F Zinc

N=ER{EESREaE Zinc Nickel
C=EB§E%%¥ Color Zinc

Fe=EB$E& = Black

304=304 55X Stressless Steel 304
316L=316L 455X Stressless Steel 3161

25444l : Seal Material
N=NBR T &5

F=FKM &5

E=EPDM =7tZ R
L=MHEREERER

Low temperature : -50°C on request

BrciE2BY: Protection Cap
W=Ti8 No Cap
—/\% B Hexagonal Cap
R=RRLENE Round Cap
P=2BKIBHANE Plastic Cap
E=HESME Universal Cap

155%ER: Special Request
0=THF5kER No Request
WR=AFZRENRREIZIE

Without Cutting Ring and Nut
(XRTFEREM-RERIEN™~m)
Y=RHERNRNEES, Y RS,
PASCRRA9E. On Request

W= O BE:

Anti-vibration O-ring
0=REREERTTHE O 2UE
No Anti-vibration O-ring

1=BR=EERTRNE O 2E

Have Anti-vibration O-ring

¥IHREKR: Marking Request
0=F@tr No Marking
IKIN=IKIN

XX =2 FPERAIEIR XX

Customer trademark

iki

n hydraulic -3-

—HRIE



IKIN

> > IBAMEIERTHIZEI BT / Port Connection and Seals

AEl

B AY

CE/DHE

EZY/FE

mhu

T [
i |
; ! '
| I |
T T ]
"] L
i = g L
d? d1
o
1 |
™| ¢ | ! i T t ; v rv vl f
i " — | T f i
’ | =] e~ T R 1 H
; 1y = ; - ! w .
1 7 - j | JI 7 } Z
IKIN Standard 1SO6149-1 JIS-B2351 DIN3852-11 Part1 and Part2 from X
G a | a1 | 1] &2 G a|b[a|ae|[t]r]|z G |albfaJae|u]e]z G a | dl [t ] t2
M3x1 | 25| 95 | 11 [ 155 Mo |10 16] 19 [118] 11 [125[127] [Gue [10] 2 [18]118] 11| 16 [12° G1e" |10 15 | 9 | 14
Mi0xI | 25| 115 | 12 | 165 M12x125( 15| 24| 19 [ 138 12 [155[15°| |G14" [15]25]24]156[135[195]15° G |15 20 [135] 20
Mi0x125| 25 | 11 | 12 [ 165 M1ax15 |15 | 24 | 21 |[158] 13 [155[15° |G3e" [20[25(28| 186 14 | 20 [15° Gals" |20 | 23 | 14 |z205
Mdx15 | 25 [ 158 | 12 | 18 M1BxX15 | 15 | 2.4 | 24 [178[145| 17 [157| [Gu2" [25|25(34] 226 |185] 265 [15° Gie" | 25| 27 [165| 245
Mi2x1.25 | 15 | 18 [135] 20
Midx15s | 15 | 20 [135] 20
MiEx15 | 15 | 23 [135] 20
GEY/HE K&
i
1
2 G G G
G | "l
| | | !
. 21 1
| i ! X j ! j ! =
o == T = T T
1 1 1 1 1
! zi 1 L |
1 1 ]
DIN2852-1 or -2 Part1 and Part2,from X DIN3852-2 Part 2.from Z ASME_B1.20.1-1983 DIN3852-1 Part 1.from 2
G a d1 t1 12 G t1 t2 G + G H 2
G1E 1015 9 [ 14 R1/5" 55 85 NPT1/8" 12 MBx1Tap | 5.5 10
G14” 15 | 20 [135] 20 R1/M4" 85 125 NPT1/4" 175 MBx1Tap | 5.5 10
G35 20 | 23 | 14 [ 205 R3/3" 85 12.5 NPT3/8" 175 M10x1 Tap | 55 10
G2 25| 27 |165] 245 R1/2" 105 165 NPT1/2" 229
Mizx125 | 15 | 18 [135] 20
M4x15 | 15 | 20 [135] 20
migas | 15| 23 [135] 20
—HRRIE -4 - ikin hydraulic




IKIN

SD-JMBSINEIESL1EBYREE / Test Coupling Specification selection

SD-90-M16x2-F-G1/4”-2
TR Seal Type
A=IKIN #xAE O BUF
IKIN Standard O-Ring

EERR: Connection Type B=21 O BUE Metric O-Ring
SD=/MELUERE Stud C=%| O BUE BSP O-Ring

D=35#r O BF
American Standard O-Ring
E=2A\%l ED B Metric ED-Ring

fafE: Angle F=2&¢ ED B BSP ED-Ring
Zo=EIB Straight G=LHIS MBS
90=90°=[i@R 90° Elbow Metric Metal Seal
45=45°a[@@ 45° Elbow H=24%S B

BSP Metal Seal

I=NPT $2559 Taper Thread
J=NPTF F{E&

RN : Dryseal Taper Thread

The thread of Protection Cap K=R 2751 Taper Thread
M16x2 L=ZM AR Taper Thread
M16x1.5

M14x1.5

M12x1.5 £E4gHBY: Construction Type
$12.65x1.5 To=24rz Integral Type
S=1E=/ Pin-Lock 2=tH&, Combined Type

RRIRFF RN KERL: Sealing type and thread

M8x1 5/16-24UNF G1/8" R1/8"
AR M10x1 3/8-24UNF G1/4" R1/4"
M10x1.25 7/16-20UNF G3/8" R3/8"
M14x1.5 1/2-20UNF F IR H B G1/2" K B R1/2"
M8x1 9/16-18UNF G3/4" R3/4"
M10x1 D& 3/4-16UNF G1” R1"
M12x1.5 7/8-14UNF G11/4" R1 1/4"
M14x1.5 11/16-12UN G11/2" R1 1/2"
M16x1.5 13/16-12UN NPT1/8" Méx1Tap.
M18x1.5 15/16-12UN NPT1/4" L& M8x1Tap.
B M20x1.5 15/8-12UN NPT3/8" M10x1Tap. |
M22x1.5 17/8-12UN | B NPT1/2"
M27x2 M8x1 NPT3/4"
M30x2 M10x1 NPT1"
M33x2 M10x1.25 NPT1 1/4"
M42x2 M12x1.5 NPT1 1/2"
M48x2 M14x1.5 NPTF1/8"
M60x2 M16x1.5 NPTF1/4"
G1/8" E RUFN G B M18x1.5 NPTF3/8"
G1/4" M20x1.5 e NPTF1/2"
cHl G3/8" M22x1.5 NPTF3/4"
G1/2" M26x1.5 NPTF1”
G3/4" M27x2 NPTF1 1/4"
G1” M33x2 NPTF1 1/2"
M42x2
M48x2

ikin hydraulic -5- —IRRE



IKIN

SD-YMBBLESE / Stud

M16x2 ZF%5l / Series M16x2

—_ 20 20

..mm mmw
"' 'o'.oftf'f!’&’ﬂ.9.4.01.ml~

mmﬂ IKIN _— e
! ".‘.‘A‘.'A'A‘f“.‘.,. i SW
- 5 4 SW
= ‘ ‘ O-Ring a ‘ ‘ 0-Ring
G G
Fig.A Fig.B
BHER B4 6 SwW THEES (bar) RS
Seal Type Thread Working Pressure Part Number
M8x1 250 SD-M16x2-A-M8x 11
A T M10x1 630 SD-M16x2-A-M10x1
M10x1.25 9.8 17 A/B 630 SD-M16x2-A-M10x1.25
M14x1.5 10 19 A/B 630 SD-M16x2-A-M14x1.5
M8x1 9.5 17 A/B 250 SD-M16x2-B-M8x 1%
M10x1 9.5 17 A/B 630 SD-M16x2-B-M10x1
M12x1.5 11 17 A/B 630 SD-M16x2-B-M12x1.5
M14x1.5 11 19 A/B 630 SD-M16x2-B-M14x1.5
M16x1.5 12.5 22 A/B 630 SD-M16x2-B-M16x1.5
M18x1.5 14 24 A/B 630 SD-M16x2-B-M18x1.5
B 7t M20x1.5 14 24 A/B 400 SD-M16x2-B-M20x1.5
M22x1.5 15 27 A/B 630 SD-M16x2-B-M22x1.5
M27x2 18.5 32 A/B 400 SD-M16x2-B-M27x2
M30x2 18.5 36 A/B 400 SD-M16x2-B-M30x2
M33x2 18.5 41 A/B 400 SD-M16x2-B-M33x2
M42x2 19 50 A/B 250 SD-M16x2-B-M42x2
M48x2 21.5 55 A/B 250 SD-M16x2-B-M48x2
M60x2 24 65 A/B 250 SD-M16x2-B-M60x2
G1/8" 10 17 A/B 250 SD-M16x2-C-G1/8"
G1/4" 12 19 A/B 630 SD-M16x2-C-G1/4"
c G3/8" 12 22 A/B 630 SD-M16x2-C-G3/8"
G1/2" 14 27 A/B 630 SD-M16x2-C-G1/2"
G3/4" 16 32 A/B 400 SD-M16x2-C-G3/4"
G1” 18 41 A/B 400 SD-M16x2-C-G1”
5/16-24UNF 10 17 A/B 400 SD-M16x2-D-5/16--24UNF
3/8-24UNF 9.5 17 A/B 400 SD-M16x2-D-3/8-24UNF
7/16-20UNF 11 17 A/B 630 SD-M16x2-D-7/16-20UNF
1/2-20UNF 11 17 A/B 630 SD-M16x2-D-1/2-20UNF
9/16-18UNF 12 17 A/B 630 SD-M16x2-D-9/16-18UNF
D 3/4-16UNF 14 22 A/B 630 SD-M16x2-D-3/4-16UNF
7/8-14UNF 16 27 A/B 630 SD-M16x2-D-7/8-14UNF
11/16-12UN 18.5 32 A/B 400 SD-M16x2-D-1 1/16-12UN
1 3/16-12UN 18.5 36 A/B 400 SD-M16x2-D-1 3/16-12UN
15/16-12UN 18.5 41 A/B 400 SD-M16x2-D-1 5/16-12UN
1 5/8-12UN 18.5 50 A/B 250 SD-M16x2-D-1 5/8-12UN
1 7/8-12UN 18.5 55 A/B 250 SD-M16x2-D-1 7/8-12UN

YA (ARG XELE, AENEIN" -2" . /These are integral models,the combination needs to add” -2” .
LRFIERSCA R R TR, EESHRY M16x2 5 BIEHEA M16x1.5/M14x1.5/M12x1.5/512.65x1.5/S, 1FESERE
5 Ti%RYRAER, /When the thread of protection cap is other size, replace the M16x2 in the part No. with
M16x1,5/M14x1,5/M12x1,5/S12,65x1,5/S. details on page 5.
RIFEMZITHAREINER, /Do not use for new design.

—HRRIE -6- ikin hydraulic




IKIN

M16x2 ZE%5l / Series M16x2

20
IKIN 2 D
S S
s EDRing . ED-Ring
G G
ZHER . THEEA (bar) piR= i
Seal Type '9- Working Pressure Part Number
M8x1 8 17 A/B 400 SD-M16x2-E-M8x1
M10x1 8 17 A/B 400 SD-M16x2-E-M10x1
M10x1.25 8 17 A/B 400 SD-M16x2-E-M10x1.25
M12x1.5 12 17 A/B 630 SD-M16x2-E-M12x1.5
M14x1.5 12 19 A/B 630 SD-M16x2-E-M14x1.5
M16x1.5 12 22 A/B 630 SD-M16x2-E-M16x1.5
E & M18x1.5 12 24 A/B 400 SD-M16x2-E-M18x1.5
M20x1.5 14 27 A/B 400 SD-M16x2-E-M20x1.5
M22x1.5 14 27 A/B 400 SD-M16x2-E-M22x1.5
M26x1.5 16 32 A/B 400 SD-M16x2-E-M26x1.5
M27x2 16 32 A/B 400 SD-M16x2-E-M27x2
M33x2 18 41 A/B 400 SD-M16x2-E-M33x2
M42x2 20 50 A/B 315 SD-M16x2-E-M42x2
M48x2 22 55 A/B 315 SD-M16x2-E-M48x2
G1/8” 8 17 A/B 400 SD-M16x2-F-G1/8"
G1/4"” 12 19 A/B 630 SD-M16x2-F-G1/4"
G3/8” 12 22 A/B 630 SD-M16x2-F-G3/8"
F % G1/2" 14 27 A/B 630 SD-M16x2-F-G1/2"
G3/4" 16 32 A/B 630 SD-M16x2-F-G3/4"
G1” 18 41 A/B 400 SD-M16x2-F-G1”
G1.1/4" 20 50 A/B 315 SD-M16x2-F-G1 1/4"
G1.1/2" 22 55 A/B 315 SD-M16x2-F-G1 1/2"

WA [ARGKELS, BEXNFEIN" -2" . /These are integral models,the combination needs to add” -2” .
LFHIEIRSOAEMR TR, EEE SR M16x2 28I/ M16x1.5/M14x1.5/M12x1.5/512.65x1.5/S. HIiESHRE
5 TUkBNRBA, /When the thread of protection cap is other size, replace the M16x2 in the part No. with
M16x1,5/M174x1,5/M12x1,5/S12,65x1,5/S. details on page 5.

ikin hydraulic -7- —IRRE




IKIN

SD-7MRSLEE / Stud

M16x2 FE%l / Series M16x2

EHER L ge . TEES (bar) =
Seal Type Thread '9- Working Pressure Part Number
M8x1 8 17 A/B 400 SD-M16x2-G-M8x1
M10x1 8 17 A/B 400 SD-M16x2-G-M10x1
M10x1.25 8 17 A/B 400 SD-M16x2-G-M10x1.25
M12x1.5 12 17 A/B 630 SD-M16x2-G-M12x1.5
M14x1.5 12 19 A/B 630 SD-M16x2-G-M14x1.5
M16x1.5 12 22 A/B 630 SD-M16x2-G-M16x1.5
Gl M18x1.5 12 24 A/B 400 SD-M16x2-G-M18x1.5
M20x1.5 14 27 A/B 400 SD-M16x2-G-M20x1.5
M22x1.5 14 27 A/B 400 SD-M16x2-G-M22x1.5
M26x1.5 16 32 A/B 400 SD-M16x2-G-M26x1.5
M27x2 16 32 A/B 400 SD-M16x2-G-M27x2
M33x2 18 41 A/B 400 SD-M16x2-G-M33x2
M42x2 20 50 A/B 315 SD-M16x2-G-M42x2
M48x2 22 55 A/B 315 SD-M16x2-G-M48x2
G1/8" 8 17 A/B 400 SD-M16x2-H-G1/8"
G1/4" 12 19 A/B 630 SD-M16x2-H-G1/4"
G3/8" 12 22 A/B 630 SD-M16x2-H-G3/8"
H 7 G1/2" 14 27 A/B 630 SD-M16x2-H-G1/2"
G3/4" 16 32 A/B 630 SD-M16x2-H-G3/4"
G1” 18 41 A/B 400 SD-M16x2-H-G1"
G11/4” 20 50 A/B 315 SD-M16x2-H-G1 1/4"
G11/2" 22 55 A/B 315 SD-M16x2-H-G1 1/2"

YA (ARG XELE, BENEIN" -2" . /These are integral models,the combination needs to add” -2” .
LIRS EMR TR, BESHRI M16x2 DEIEH#E M16x1.5/M14x1.5/M12x1.5/512.65x1.5/S, F#IESHESE
5 TRi%kBRNAA, /When the thread of protection cap is other size, replace the M16x2 in the part No. with
M16x1,5/M14x1,5/M12x1,5/S12,65x1,5/S. details on page 5.

—IRRE -8- ikin hydraulic




IKIN

SD-MBRNLEE / Stud

M16x2 Z%5 / Series M16x2

R
N

S lLIN
UEARAMAMARNA AL
) +
A

RNV VEE

IKIN

BHER By G _ THEEA (bar) RS0
Seal Type Thread 19 Working Pressure Part Number
NPT1/8" 10 17 A/B 400 SD-M16x2-1-NPT1/8"
NPT1/4" 16 17 A/B 630 SD-M16x2-I-NPT1/4"
NPT3/8" 17 19 A/B 630 SD-M16x2-I-NPT3/8"
| 7 NPT1/2" 20 24 A/B 630 SD-M16x2-I-NPT1/2"
NPT3/4" 19.5 30 A/B 630 SD-M16x2-I-NPT3/4"
NPT1” 24.5 36 A/B 400 SD-M16x2-I-NPT1"
NPT1 1/4" 25 46 A/B 315 SD-M16x2-I-NPT1 1/4"
NPT1 1/2" 26 55 A/B 315 SD-M16x2-I-NPT1 1/2"
NPTF1/8" 10 17 A/B 400 SD-M16x2-J-NPTF1/8"
NPTF1/4" 16 17 A/B 630 SD-M16x2-J-NPTF1/4"
NPTF3/8" 17 19 A/B 630 SD-M16x2-J-NPTF3/8"
J NPTF1/2" 20 24 A/B 630 SD-M16x2-J-NPTF1/2"
NPTF3/4" 19.5 30 A/B 630 SD-M16x2-J-NPTF3/4"
NPTF1" 24.5 36 A/B 400 SD-M16x2-J-NPTF1”
NPTF1 1/4" 25 46 A/B 315 SD-M16x2-J-NPTF1 1/4"
NPTF1 1/2" 26 55 A/B 315 SD-M16x2-J-NPTF1 1/2"
R1/8" 8 17 A/B 400 SD-M16x2-K-R1/8"
R1/4" 12 17 A/B 630 SD-M16x2-K-R1/4"
R3/8" 14 19 A/B 630 SD-M16x2-K-R3/8"
K 7 R1/2" 19 24 A/B 630 SD-M16x2-K-R1/2"
R3/4" 16 32 A/B 630 SD-M16x2-K-R3/4"
R1" 18 41 A/B 400 SD-M16x2-K-R1"
R1 1/4" 20 46 A/B 315 SD-M16x2-K-R1 1/4"
R1 1/2" 22 55 A/B 315 SD-M16x2-K-R1 1/2"
M6x1 tap. 8 17 A/B 100 SD-M16x2-L-M6x1 tap.
LAY M8x1 tap. 8 17 A/B 400 SD-M16x2-L-M8x1 tap.
M10x1 tap. 8 17 A/B 400 SD-M16x2-L-M10x1 tap.

YA [IARGXELE, BENEIN" -2" . /These are integral models,the combination needs to add” -2” .
LRAIEIRSCA R R I, SESHH) M16x2 SBIEH %A M16x1.5/M14x1.5/M12x1.5/512.65x1.5/S, 1FIESHREE
5 TUkBNRBA, /When the thread of protection cap is other size, replace the M16x2 in the part No. with
M16x1,5/M14x1,5/M12x1,5/S12,65x1,5/S. details on page 5.

ikin hydraulic -9- —IRRE



IKIN

DKO-24° 8254 M [EiESkixBlREB/ Test Coupling with 24° Male Cone

ZEEA/IN: Connection Type
DKO=DKO 24°$E %7
DKO 24° Male Cone

filE: Angle

To=E@x, Straight
90=90°e]iAm 90° Elbow
45=45°n]g[m 45° Elbow

R IRIREL -

The thread of Protection Cap
M16x2

M16x1.5

$12.65x1.5

S=HuE=/Pin-Lock

125k/EH:
L=32% Light Series
S=8% Heavy Series

DKO-90-M16x2-L-06-2

£54a%8Y: Construction Type
To=E{RZ, Integral Type
2=HEZ, Combined Type

LREFIER | SEIER
Tube(mm) | Tube(mm)
06 06
08 08
10 10
12 12
15 14
18 16
22 20
28 25
35 30
42 38

—iRRE

-10-

ikin hydraulic



IKIN

DKO-24 82+ MEIEL/ Test Coupling with 24° Male Cone

M16x2 %l / Series M16x2

20

=

IKIN

SW17
Thrust Pin
o O-Ring SW Thrust P'ln -
- —————— O-Ring
" |
L —H

¢ =

T-—' [

Fig.B

5" BY 6 T{EES (bar) RS
Series Thread Working Pressure Part Number

6 M12x1.5 154 17 A/B 315 DKO-M16x2-L-06

8 M14x1.5 154 17 A/B 315 DKO-M16x2-L-08

10 M16x1.5 16.4 19 A/B 315 DKO-M16x2-L-10

12 M18x1.5 16.9 22 A/B 315 DKO-M16x2-L-12

L 15 M22x1.5 20 27 C 315 DKO-M16x2-L-15
18 M26x1.5 22 32 C 315 DKO-M16x2-L-18

22 M30x2 22 36 C 160 DKO-M16x2-L-22

28 M36x2 28 41 C 160 DKO-M16x2-L-28

35 M45x2 34 50 C 160 DKO-M16x2-L-35

42 M52x2 37 60 C 160 DKO-M16x2-L-42

6 M14x1.5 154 17 A/B 630 DKO-M16x2-S-06

8 M16x1.5 16.4 19 A/B 630 DKO-M16x2-S-08

10 M18x1.5 16.4 22 A/B 630 DKO-M16x2-S-10

12 M20x1.5 18.4 24 A/B 630 DKO-M16x2-S-12

s 14 M22x1.5 21 27 C 630 DKO-M16x2-S-14
16 M24x1.5 22 30 C 400 DKO-M16x2-S-16

20 M30x2 25 36 C 400 DKO-M16x2-S-20

25 M36x2 28 46 C 400 DKO-M16x2-S-25

30 M42x2 30 50 C 400 DKO-M16x2-S-30

38 M52x2 30 60 C 315 DKO-M16x2-S-38

WA (MRS L i8R 8ERT, S I8E:&HRT! / L=Light Series, S=Heavy Series
RIEAEARES, AEAFEIN" -2" . L/S ZFIND6 RO 12, LA Fig.A B{Az(F Fig.B BESAMMENE; HRIY
79 Fig.C HENEER, / These are integral models,the combination needs to add” -2” .The L/S series from 96 to O
12 has two structures, Fig.A integral and Fig.B combination; the rest are combination of Fig.C
LRAAIEIRSCAEMBRTRY, BESFRI M16x2 DRI M16x1.5/512.65x1.5/S. FHIESHRSE 10 TUEENNBA,
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/5S12,6
5x1,5/S. details on page 10.

ikin hydraulic -11- —IRRE



IKIN

JIC-37° &SN ERELi%BNREE / Test Coupling with 37° JIC

JIC-F-90-M16x2-06-2
EEH/N: Connection Type £EHQHR): Construction Type
JIC=JIC37°%5 To=FRZ, Integral Type
2=H&EZ, Combined Type
EHEHBY: Connection Type
F=gt841 Female Thread
M=4MELL Male Thread
filE: Angle .
To=EL@Ex, Straight ut mm inch S
90=90°E_|-'U%|E_] 90° Elbow _ Code Thread
45=45°RIEA 45° Elbow 06 6 1/4" 7/16-20UNF
08 8 5/16" 1/2-20UNF
10 10 3/8" 9/16-18UNF
IR S IBIESL 5
The thread of Protection Cap 12 12 172 SRl
M16x2 16 16 5/8" 7/8-14UNF
S 20 | 20 |34 11/16-12UN
S$12.65x1.5
S=tRiEt 25 25 1 15/16-12UN
30 30/32 |1-1/4" 15/8-12UN
38 38 1-1/2" 17/8-12UN
50 50 2" 2 1/2-12UN

—FRE -12 - ikin hydraulic



IKIN

JC-37°H EENERESL / Test Coupling with 37° JIC

JIC RIBBLESE / JIC Female Thread Connection
M16x2 FE%l / Series M16x2

Thrust Pin

—

Fig.A Fig.B Fig.C

B4 G EZ(mm) | &fZ(inch) L SW - THEES (bar) BSY
1g.
Thread Tube Tube mm mm 9 Working Pressure Part Number
6 18 17 A/B 350

7/16-20UNF 1/4” JIC-F-M16x2-06
1/2-20UNF 8 5/16” 18.5 17 A/B 350 JIC-F-M16x2-08
9/16-18UNF 10 3/8” 18.5 19 A/B 350 JIC-F-M16x2-10
3/4-16UNF 12 1/2” 21.6 22 C 310 JIC-F-M16x2-12
7/8-14UNF 16 5/8” 24.9 27 C 240 JIC-F-M16x2-16
11/16-12UN 20 3/4” 26.2 32 C 240 JIC-F-M16x2-20
15/16-12UN 25 1” 30 41 C 210 JIC-F-M16x2-25
15/8-12UN 30/32 1-1/4” 31.2 50 C 170 JIC-F-M16x2-30
17/8-12UN 38 1-1/2 36.1 60 C 140 JIC-F-M16x2-38
2 1/2-12UN 50 2’ 44.5 75 C 105 JIC-F-M16x2-50

BEA: (M AEEFRRES, AENHEMN" -2" , G M 7/16-20UNF % 9/16-18UNF, #£LH Fig.A B{A=(F0 Fig.B BEFH
248, 99 Fig.C BENEEN., / These are integral models,the combination needs to add” -2” . The thread from
7/16-20UNF to 9/16-18UNF is Fig.A integral and Fig.B combination; the rest are combination of Fig.C.
HFIEESCEMR TR, BESHEI M16x2 5189 M16x1.5/512.65x1.5/S, HIESHRE 12 TULEEA,
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/512,6

5x1,5/S. details on page 12.
ikin hydraulic -13- —IRRE




IKIN

JIC-37°H EENMNERESL / Test Coupling with 37° JIC

JIC YMBALESE / JIC Male Thread Connection
M16x2 %l / Series M16x2

B G EfR(mm) | EfR(inch) L sw . THEEA (bar) =

Thread Tube Tube mm mm . Working Pressure Part Number
7/16-20UNF 6 1/4” 14 17 A/B 350 JIC-M-M16x2-06
1/2-20UNF 8 5/16” 14 17 A/B 350 JIC-M-M16x2-08
9/16-18UNF 10 3/8” 14.1 17 A/B 350 JIC-M-M16x2-10
3/4-16UNF 12 1/2” 16.7 22 A/B 310 JIC-M-M16x2-12
7/8-14UNF 16 5/8” 19.3 24 A/B 240 JIC-M-M16x2-16
11/16-12UN 20 3/4” 21.9 30 A/B 240 JIC-M-M16x2-20
15/16-12UN 25 1 23.1 36 A/B 210 JIC-M-M16x2-25
15/8-12UN 30/32 1-1/4” 24.3 46 A/B 170 JIC-M-M16x2-30
17/8-12UN 38 1-1/2” 27.5 50 A/B 140 JIC-M-M16x2-38
2 1/2-12UN 50 2’ 33.9 65 A/B 105 JIC-M-M16x2-50

WA [ AZRGKELS, BENEIN" -2" . /These are integral models,the combination needs to add” -2” .
LRIEIEIBSCIEMR TR, BESHE M16x2 HBIEHR M16x1.5/S12.65x1.5/S, F#IESHRS 12 TUARLIRA.
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/512,6
5x1,5/S. details on page 12.

— R E -14 - ikin hydraulic



IKIN

TB- & EEN ERELi%BRB/ Test Coupling with Tube

TB-90-M16x2-06-2

EEBR: Connection Type £54a%8Y: Construction Type
TB=FEEEZE Tube ' FT=8K=, Integral Type
2=HEZ, Combined Type

filE: Angle

To=E@x, Straight
90=90°m]y&Mm 90° Elbow
A5=45°m]iEmE 45° Elbow

EE (mm)
IR be

The thread of Protection Cap
M16x2 06
M16x1.5 08
$12.65x1.5 10

S=tguE=/ Pin-Lock 2

14
15
16
18
20
22
25
28
30
35
38
42

ikin hydraulic -15- —IRRE



IKIN

TB-TEEEENEREL/ Test Coupling with Tube

M16x2 ZF?%l / Series M16x2

—
! J J

A z ¢

Fig.A Fig.B Fig.C

TEEH (bar) i

Working Pressure Part Number
6 20 A/B 630 TB-M16x2-06
8 20 A/B 630 TB-M16x2-08
10 22 A/B 630 TB-M16x2-10
12 22 A/B 630 TB-M16x2-12
14 22 A/B 630 TB-M16x2-14
15 29 A/IC 315 TB-M16x2-15
16 29 A/IC 400 TB-M16x2-16
18 29 C 315 TB-M16x2-18
20 30 C 400 TB-M16x2-20
22 30 C 160 TB-M16x2-22
25 37 C 400 TB-M16x2-25
28 38 C 160 TB-M16x2-28
30 41 C 400 TB-M16x2-30
35 42 C 160 TB-M16x2-35
38 48 C 315 TB-M16x2-38
42 48 C 160 TB-M16x2-42

AR [MIABGARS, AEAFEMN" -2" , 06014 5 Fig. A B{Az{f Fig.B AEMFTEN, 015 FI016 58 Fig. A E
RZUR Fig.C BETMMEEHS, HRI9H Fig.C ASTEH.
These are integral models,the combination needs to add” -2” .06 to D14 have two structures: Fig.A integral
type and Fig.B combined type. D15 to D16 have Fig.A integral type and Fig.C combined type two structures, the
rest are combination of Fig.C.
LRIEIEIRSCIEMR TR, BESHE M16x2 HBIEHR M16x1.5/512.65x1.5/S, F#IESHRSS 15 TUARLRAA.
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/512,6
5x1,5/S. details on page 15.

—IRRE -16 - ikin hydraulic




IKIN

CR-FEIMBELINEIEL1x2BYUREE / Test Coupling with Cutting Ring

CR-90-M16x2-L-06-2

EERBR: Connection Type LEVIHBY: Construction Type
CR=-FEIMBLL Cutting Ring To=2k=, Integral Type
2=HEZ, Combined Type

filE: Angle
FT=EiE8x Straight
90=90°m@m 90° Elbow
45=A5°TJif[a 45° Elbow
L ZFEERE S FHIEE
Tube(mm) Tube(mm)
. 06 06
B IRIRSL: = =
The thread of Protection Cap
M16x2 10 10
M16x1.5 12 12
$12.65x1.5
S=14mE={/ Pin-Lock 15 14
18 16
22 20
28 25
ERk/ER: 35 30
L=32% Light Series 42 38
S=8# Heavy Series

ikin hydraulic -17 - —IRRE



IKIN

CR-REIMBELLNEIESL / Test Coupling with Cutting Ring

M16x2 ZF?%l / Series M16x2

20

SN
N

a
=I
R

Fig.A ig.
23" | Eio B8 G L sw . TEEA (bar) RS

Series Tube Thread mm mm . Working Pressure Part Number
6 M12x1.5 10 17 A/B 315 CR-M16x2-L-06

8 M14x1.5 10 17 A/B 315 CR-M16x2-L-08

10 M16x1.5 11 17 A/B 315 CR-M16x2-L-10

12 M18x1.5 11 19 A/B 315 CR-M16x2-L-12

L 15 M22x1.5 12 24 A/B 315 CR-M16x2-L-15
18 M26x1.5 12 27 A/B 315 CR-M16x2-L-18

22 M30x2 14 32 A/B 160 CR-M16x2-L-22

28 M36x2 14 41 A/B 160 CR-M16x2-L-28

35 M45x2 16 46 A/B 160 CR-M16x2-L-35

42 M52x2 16 55 A/B 160 CR-M16x2-L-42

6 M14x1.5 12 17 A/B 630 CR-M16x2-S-06

8 M16x1.5 12 17 A/B 630 CR-M16x2-S-08

10 M18x1.5 12 19 A/B 630 CR-M16x2-S-10

12 M20x1.5 12 22 A/B 630 CR-M16x2-S-12

s 14 M22x1.5 14 24 A/B 630 CR-M16x2-S-14
16 M24x1.5 14 27 A/B 400 CR-M16x2-S-16

20 M30x2 16 32 A/B 400 CR-M16x2-S-20

25 M36x2 18 41 A/B 400 CR-M16x2-S-25

30 M42x2 20 46 A/B 400 CR-M16x2-S-30

38 M52x2 22 55 A/B 315 CR-M16x2-S-38

WEA: [1IRF: L I8RBEES, S 18EHRT / L=Light Series, S=Heavy Series
RILAEBARELE, EENTEIN" -2" , /These are integral models,the combination needs to add” -2” .
HFIEESC R R TR, BESHEI M16x2 51829 M16x1.5/512.65x1.5/S, HIESHRE 17 TULEEA,
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/512,6
5x1,5/S. details on page 17.

—IRRE -18 - ikin hydraulic




IKIN

ORFS- &} MIERELiERREB/ Test Coupling with ORFS

ORFS-F-90-M16x2-06-2

EEAB: Connection Type £54a388Y: Construction Type
ORFS=ORFS £y — - =B Integral Type
2=tAE=, Combined Type

B Connection Type
F=PJIRL Female Thread
M=4MEL Male Thread

filE: Angle @ mm inch —
To=E@x, Straight Code Thread
90=90°R[¥@I 90° Elbow -
A5=45°T[ERE 45° Flbow 067 6 | 14 9/16-T8UNF
08 8 5/16" 5/8-18UNF
10 10 3/8" 11/16-16UN
RS A IR - 12 12 172" 13/16-16UN
The thread of Protection Cap 16 16 5/8" 1-14UNS
M16x2 20 | 20 | 3/4" | 13/16-12UN
M16x1.5
$12.65x1.5 22 | 22 | 7/8" | 15/16-12UN
S=1Riz\/ Pin-Lock 25 | 25 1" 17/16-12UN
30 30 1-1/4" 111/16-12UN
38 38 1-1/2" 2-12UN

ikin hydraulic -19- —IRRE



IKIN

ORFS-EmBPREINERESL / Test Coupling with ORFS

ORFS PWBLLERE / ORFS Female Thread Connection
M16x2 FE%l / Series M16x2

20
IKIN
sWi7
SW
4 Thrust Pin 7
'» — Thrust Pin
G ]
Fig.A Fig.B Fig.C
B4 G E{R(mm) | B{R(inch) L sw TEEAH (bar) i
Thread Tube Tube mm mm Working Pressure Part Number

9/16-18UNF 6 1/4” 18.5 19 A/B 630 ORFS-F-M16x2-06
5/8-18UNF 8 5/16” 16 19 A/B 630 ORFS-F-M16x2-08
11/16-16UN 10 3/8” 17 22 A/B 630 ORFS-F-M16x2-10
13/16-16UN 12 1/2” 20 24 C 630 ORFS-F-M16x2-12
1-14UNS 16 5/8” 24 30 C 400 ORFS-F-M16x2-16
1 3/16-12UN 20 3/4” 26.5 36 C 400 ORFS-F-M16x2-20
15/16-12UN 22 7/8” 30 41 C 400 ORFS-F-M16x2-22
17/16-12UN 25 1” 27.5 41 C 400 ORFS-F-M16x2-25
111/16-12UN 30 1-1/4” 27.5 50 C 250 ORFS-F-M16x2-30
2-12UN 38 1-1/2” 27.5 60 C 250 ORFS-F-M16x2-38

WA [MAERRXES, AEANHIEIN” -2" , G M 9/16-18UNF EJ 11/16-16UN, 255 Fig.A ZHia{F0 Fig.B BEz{Fofieita),
HEI98 Fig.C HEREM. /These are integral models,the combination needs to add” -2” .The thread from
9/16-18UNF to 1 1/16-16UN is Fig.A integral and Fig.B combination; the rest are combination of Fig.C.
LIRS EfR TR, BESHH M16x2 33189 M16x1.5/512.65x1.5/S. SRS 19 TULZLHEA.
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/512,6
5x1,5/5. details on page 179.

—IRRE -20- ikin hydraulic




IKIN

ORFS-EmMBZEFNERESL / Test Coupling with ORFS

ORFS YMBLLERE /| ORFS Male Thread Connection
M16x2 Z% / Series M16x2

1257 G &1Z(inch) L SW THEA (bar) il
Thread Tube mm mm Working Pressure Part Number
9/16-18UNF 6 1/4” 10 17 A/B 630 ORFS-M-M16x2-06
5/8-18UNF 8 5/16” 10 19 A/B 630 ORFS-M-M16x2-08
11/16-16UN 10 3/8” 11 19 A/B 630 ORFS-M-M16x2-10
13/16-16UN 12 1/2” 13 22 A/B 630 ORFS-M-M16x2-12
1-14UNS 16 5/8” 15.5 27 A/B 400 ORFS-M-M16x2-16
1 3/16-12UN 20 3/4” 17 32 A/B 400 ORFS-M-M16x2-20
1 5/16-12UN 22 7/8” 17.5 36 A/B 400 ORFS-M-M16x2-22
17/16-12UN 25 1” 17.5 41 A/B 400 ORFS-M-M16x2-25
111/16-12UN 30 1-1/4” 175 46 A/B 250 ORFS-M-M16x2-30

2-12UN 38 1-1/2” 175 55 A/B 250 ORFS-M-M16x2-38

WA [ARGKELS, BEXNFEIN" -2" . /These are integral models,the combination needs to add” -2” .
LPFAIBIRSOI R R TR, ERSHE M16x2 HBIEHEA M16x1.5/512.65x1.5/S, FIESHREE 19 TUERLRTEA,
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/512,6
5x1,5/5. details on page 79.

ikin hydraulic -21- —IRRE




IKIN

BH-PstR=U N ERESk1%BY5%AE / Test Coupling with Bulkhead

BH-90-TH-M16x2-M16x2-2

£54a%BY: Construction Type
To=8{K=, Integral Type
2=H&EZ, Combined Type

EEAN: Connection Type
BH=f@#R= Bulkhead

iRk XM : Angle

FT=EER, Straight TREBHESLARA -
90=90°3fg 90° Elbow Top Connection Thread
A5=45°3Zf 45° Elbow M16x2

M16x1.5

S12.65x1.5

S=1R4RZ/ Pin-Lock
JRERE R R :
Bottom Connection Type
TH=EZNERE Test Hose
CR=RERES Cutting Ring
JIC=JIC IMBENZER:

ORFSZORFS AR AR R MR S
Bottom Connection Type
TH CRERS JIiC ORFS
BES BES BES
M16x2 LEF | SHFI 06 06
M16x1.5 06 06 08 08
$12.65x1.5 08 08 10 10
4R/ Pin-Lock 10 10 12 12
12 12 16 16
15 14 20 20
18 16 25 22
22 20 30 25
28 25 38 30
35 30 50 38
42 38  [iB1EJICIEENRIETE ORFS %
JE7E CR 3ERYHAE, BB, &R, 28
sEmmefmRy S BN R TSRS R
. RigZ,  |RIREL
Please see page17- Please see  |Please see
18 page 12-14. |page 19-21.
—HRRE -22- ikin hydraulic



IKIN

BH-PstRIUCIERESL / Test Coupling with Bulkhead

JREREIENEENES / Bottom connect with test hose
M16x2 FZE?%l / Series M16x2

SW19

=

Part Number

=
Fig.A Fig.C
THEES (bar)
Working Pressure
M16x2 A 630
M16x2 M16x1.5 A 630
S$12.65x1.5 B 400
T/ Pin-Lock C 400

BH-TH-M16x2-M16x2
BH-TH-M16x1.5-M16x2
BH-TH-S12.65x1.5-M16x2
BH-TH-S-M16x2

BeRA: [N ARREGRELE, HARFTEIN" -2 ./ These are integral models, The combined should add a "-2” .

LTRERFAIEIRSOEAE R BT, BELS I M16x2 HBIEHR9 M16x1.5/512.65x1.5/S, FESHRE 22 TUiEEYA.
When the top protection cap thread is other size, replace the M16x2 in the part No. with M16x1,5/512,

65x1,5/S. details on page 22.
XEPRBASEUEHNRREE, KHRASET, RS EEXS.

The top of the figure contains a check vavle, the bottom does not contain, please pay attention to distinguish

when selecting.

ikin hydraulic -23-

—iRRE



IKIN

BH-PStRIVERESL / Test Coupling with Bulkhead

IREBRERIEE / Bottom connect with Cutting Ring
M16x2 F%5 / Series M16x2

£ B G L SwW . TEEHS (bar) i
Series Thread mm mm . Working Pressure Part Number
6 M12x1.5 34 17 A/B 315 BH-CR-L-06-M16x2
8 M14x1.5 34 19 A/B 315 BH-CR-L-08-M16x2
10 M16x1.5 35 22 A/C 315 BH-CR-L-10-M16x2
12 M18x1.5 36 24 A/C 315 BH-CR-L-12-M16x2
L 15 M22x1.5 38 30 A/C 315 BH-CR-L-15-M16x2
18 M26x1.5 40 36 A/C 315 BH-CR-L-18-M16x2
22 M30x2 42 41 A/C 160 BH-CR-L-22-M16x2
28 M36x2 43 46 A/C 160 BH-CR-L-28-M16x2
35 M45x2 47 55 A/C 160 BH-CR-L-35-M16x2
42 M52x2 47 65 A/C 160 BH-CR-L-42-M16x2
6 M14x1.5 36 19 A/B 630 BH-CR-S-06-M16x2
8 M16x1.5 36 22 A/C 630 BH-CR-S-08-M16x2
10 M18x1.5 37 24 A/C 630 BH-CR-S-10-M16x2
12 M20x1.5 38 27 A/C 630 BH-CR-S-12-M16x2
s 14 M22x1.5 39 30 A/C 630 BH-CR-S-14-M16x2
16 M24x1.5 40 32 A/C 400 BH-CR-S-16-M16x2
20 M30x2 44 41 A/C 400 BH-CR-S-20-M16x2
25 M36x2 47 46 A/C 400 BH-CR-S-25-M16x2
30 M42x2 51 50 A/C 400 BH-CR-S-30-M16x2
38 M52x2 53 65 A/C 315 BH-CR-S-38-M16x2

WEE: (&S L I8REERS, S I8EEHRY / L=Light Series, S=Heavy Series

RIUtLARANES, AEXNFBEMN -2" , L KFIND6 20 8, S RFHIO6 HFig.A BN Fig.B AENFARMEN, Hf
79 Fig.A B{Az{#0 Fig.C HEXNFMEEN., /These are integral models,the combination needs to add” -2” .The L
series from 96 to @ 8 and the S series D6 has two structures: Fig.A integral type and Fig.B combined type. The
rest are two structures: Fig.A integral type and Fig.C combined type.
HFIEESC R R TR, BESHEI M16x2 5189 M16x1.5/512.65x1.5/S, HIESHRE 22 TULRYEA,
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/512,6
5x1,5/S. details on page 22.

— R E -24 - ikin hydraulic



IKIN

BH-[EtRIVMERESL / Test Coupling with Bulkhead

JE2B JIC i&E$E / Bottom connect with JIC Male Thread
M16x2 %l / Series M16x2

SW

Fig.A Fig.B Fig.C

e =R &1{Z(inch) . TEES (bar) EiR=

Thread Tube Working Pressure Part Number
7/16-20UNF 6 1/4” 30.5 17 A/B 350 BH-JIC-06-M16x2
1/2-20UNF 8 5/16” 30.5 19 A/B 350 BH-JIC-08-M16x2
9/16-18UNF 10 3/8” 325 22 A/B 350 BH-JIC-10-M16x2
3/4-16UNF 12 1/2” 36.6 24 A/C 310 BH-JIC-12-M16x2
7/8-14UNF 16 5/8” 401 30 A/C 240 BH-JIC-16-M16x2
11/16-12UN 20 3/4” 44 .4 36 A/C 240 BH-JIC-20-M16x2
15/16-12UN 25 1” 44.4 41 A/C 210 BH-JIC-25-M16x2
1 5/8-12UN 30/32 1-1/4” 45.7 50 A/IC 170 BH-JIC-30-M16x2
17/8-12UN 38 1-1/2” 46 55 A/IC 140 BH-JIC-38-M16x2
2 1/2-12UN 50 2’ 53.1 70 A/C 105 BH-JIC-50-M16x2

WEA: [1AEARELS, BEXNFEIN" -2” , G M 7/16-20UNF Z) 9/16-18UNF, #23LA Fig. A B{A=(#0 Fig.B HER, H
R4 Fig.A k0 Fig.C HEXNFFNER, /These are integral models,the combination needs to add” -2” .The
thread from 7/16-20UNF to 9/16-18UNF is Fig.A integral and Fig.B combination, The rest are two structures:
Fig.A integral type and Fig.C combined type.

LRGBS EMR TR, BELSHRY M16x2 SBIE#ES M16x1.5/512.65x1.5/S, FIESHIRES 22 TUABLIREA,
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/512,6
5x1,5/5. details on page 22.

ikin hydraulic -25- —IRRE




IKIN

BH-EtRIVMERESL / Test Coupling with Bulkhead

J&E2ZRB ORFS &E3E / Bottom connect with ORFS
M16x2 %l / Series M16x2

20 20

IKIN

SW

T ™ ORing T o ing R 0 Rine

Fig.A Fig.B Fig.C
EE(mm) | EfZ(inch) TEESD (bar) B3
Tube Tube Working Pressure Part Number

9/16-18UNF 6 1/4” 31.5 22 A/B 630 BH-ORFS-06-M16x2
5/8-18UNF 8 5/16” 31.5 22 A/C 630 BH-ORFS-08-M16x2
11/16-16UN 10 3/8” 34 27 A/C 630 BH-ORFS-10-M16x2
13/16-16UN 12 1/2” 36.5 30 A/C 630 BH-ORFS-12-M16x2
1-14UNS 16 5/8” 40.5 36 A/IC 400 BH-ORFS-16-M16x2
1 3/16-12UN 20 3/4” 41.5 41 A/IC 400 BH-ORFS-20-M16x2
15/16-12UN 22 718" 42 46 A/C 400 BH-ORFS-22-M16x2
17/16-12UN 25 1” 42 46 A/C 400 BH-ORFS-25-M16x2
111/16-12UN 30 1-1/4” 42 50 A/C 250 BH-ORFS-30-M16x2
2-12UN 38 1-1/2” 42 60 A/C 250 BH-ORFS-38-M16x2

B ARG RELS, EAENFHEMN" -2" . G 9/16-18UNF i, J Fig.A ZARXA0 Fig.B BEXERMEN, HRH Fig.A
BAFHN Fig.C HERFFNEEN, / These are integral models,the combination needs to add” -2” .When the thread
is 9/16-18UNF ,it is the two structures of Fig.A integral and Fig.B combined, and the rest are two structures:
Fig.A integral type and Fig.C combined type.

LBFAIRIRSOI R R TR, ERSHE M16x2 HBIEHEA M16x1.5/512.65x1.5/S, FIESHREE 22 TUERLTEA,
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/512,6
5x1,5/5. details on page 22.

—IRRE -26- ikin hydraulic




IKIN

T-=5@8 N EEL%BY5HBE / Test Coupling with Tee

T-90-90-M16x2-CR-L-06-CR-L-06

I

EEA/N: Connection Type
T==@EEL Tee

TRERMIEESLAE: Angle
Z=EiBx{ Straight
90=90°%kfg 90° Elbow
45=45°Ff 45° Elbow

PAiRIELER: Angle
Fo=Ei8z Straight
90=90°3kf 90° Elbow
45=45°Kfg 45° Elbow

IR IEIRSL -

The thread of Protection Cap
M16x2

M16x1.5

$12.65x1.5

S=1R4E=/ Pin-Lock

-

o P i Sk ST e
Two End Fitting Type and Specification
SD DKO TB CR
A L L S - L S
M8x1...M14 Mex1
- tap....M10 06...42 06...38 6...42 06...42 06...38
x1 tap.
JIC-SW JIC-SD ORFS-SW ORFS-SD
06...10 06...10 06...10 06...10
— LRk SR e — R, TERES T MELRIES,
The second fitting type can omitted when two side fitting are same.

ikin hydraulic -27 - —IRRE



IKIN

T-=@ENEESLEBNREE / Test Coupling with Tee

M16x2 ZF?%l / Series M16x2

20
IKIN
SW17
BRI SW1
SwW2

ﬁ 1

AT

Y

Fig.A
[1] fatc 27 jj = [2]
Series Tube Thread Working Pressure Part Number

6 M12x1.5 14 24 A 315 T-M16x2-CR-L-06
8 M14x1.5 17 24 A 315 T-M16x2-CR-L-08
10 M16x1.5 19 27 A 315 T-M16x2-CR-L-10
12 M18x1.5 22 27 A 315 T-M16x2-CR-L-12
L 15 M22x1.5 27 30 A 315 T-M16x2-CR-L-15
18 M26x1.5 32 32 A 315 T-M16x2-CR-L-18
22 M30x2 36 36 A 160 T-M16x2-CR-L-22
28 M36x2 41 41 A 160 T-M16x2-CR-L-28
35 M45x2 50 46 A 160 T-M16x2-CR-L-35
42 M52x2 60 55 A 160 T-M16x2-CR-L-42
6 M14x1.5 17 24 A 630 T-M16x2-CR-S-06
8 M16x1.5 19 24 A 630 T-M16x2-CR-S-08
10 M18x1.5 22 27 A 630 T-M16x2-CR-S-10
12 M20x1.5 24 27 A 630 T-M16x2-CR-S-12
s 14 M22x1.5 27 27 A 630 T-M16x2-CR-S-14
16 M24x1.5 30 30 A 400 T-M16x2-CR-S-16
20 M30x2 36 36 A 400 T-M16x2-CR-S-20
25 M36x2 46 41 A 400 T-M16x2-CR-S-25
30 M42x2 50 46 A 400 T-M16x2-CR-S-30
38 M52x2 60 55 A 315 T-M16x2-CR-S-38

WBE: [1IFRF: L I8RE,ES, S IBEHKS. / L=Light Series, S=Heavy Series
[2]HBE BRSO AR TR, EELSHRY M16x2 S5 BIEE M16x1.5/512.65x1.5/S, 1FESHIRES 27 TUEERBA,
When the thread of protection cap is other size, replace the M16x2 in the part No. with M16x1,5/512,6
5x1,5/S. details on page 27.

—IRRE -28- ikin hydraulic



IKIN

T-=i@ N EELI%ERNRBB / Test Coupling with Tee

WAAAMAAMA Y
AKOUR KRR
LOOOGUUUUURS
I

T-M16x2-JIC-M-XX

0-Ring Thrust Pin

T-M16x2-DKO-X-XX

A ARSI SMAS I HRE, WERKBEEEN.

Many combinations can be choosed ,Please contact us if you need.

ikin hydraulic -29- —HRRE



IKIN

E(thZ% / Other Series

M16x1.5 Z%l / Series M16x1,5

20 20
= Y,
IKIN IKIN
2 SW17
SW
Thrust Pin
0-Ring
5 T
oy 0-Ring
——
LG, &

BEA: [11AE M16x2 ZFIRF-RER# M16x1.5, WIBFKIEHEEN,
All the products in M16x2 series can make to M16x1,5,Please contact us if you need.
RIEIEHRERTIE M16x2 ey M16x1.5,5140: SD-M16x2-A-M8x1 Eialgy SD-M16x1.5-A-M8x1
The part No. writing simply changes the M16x2 to M16x1,5.

$12.65x1.5 &%l / Series S12,65x1,5

R R
S ]
ot Tete Tttt et

L P, e o e
SRR

A [11ATE M16x2 RFIRIF-RE T S12.65x1.5, MBEHFKRIBFHEHES,
All the products in M16x2 series can make to S12,65x1,5,Please contact us if you need.
RIELESHRERTIE M16x2 BEHag S12.65x1.5,45/80: SD-M16x2-F-G1/4" &)y SD-S12.65x1.5-F-G1/4"
The part No. writing simply changes the M16x2 to S12,65x1,5.

—HRRE -30- ikin hydraulic



IKIN

BRIEXZEF / Series Pin-Lock

SW SW1

Thrust Pin

i :
0O-Ring
5 U king
— 0-Rin Y
] ;
G o ]
] P 4-'[}
Gl
W SW12
—

24° SW19

I @

SW1

7B (118 M16x2 RFIRIF-RE ARG, WERKBEHBEN.
All the products in M16x2 series can make to Pin-Lock,Please contact us if you need.
RIBIEHREREE M16x2 By S.fla0: SD-M16x2-A-M8x1 &ifs/g SD-S-A-M8x1,
The part No. writing simply changes the M16x2 to S.

ikin hydraulic -31- —IRRE



IKIN

90°#1 45°iAFM / 90°&45° Elbow

WA [ATENERESSIRY 90°F0 45°8R, NBEHEKIBEEEBES,
All test couplings can be designed with 90°or 45° Elbow, please contact us if you need.
[2190°F0 45° AR L SIS REBI LB S &4
For the 90° and 45° Elbow coupling ,parameters are same with the straight couplings.
BIESRFENNNEBIEESAIESHEIN_L 90 & 45 BIFT.
Blgn: SD-M16x2-A-M8x1 A9k, FE(ER 90°rIiEREEkaY, BS3Ef: SD-90-M16x2-A-M8x1
The part No. only needs to add 90 or 45 to the middle of the corresponding straight connector.

—HRRE -32- ikin hydraulic



IKIN

FEDFRIELIMIRIEIFE / Pressure Gauge Connector Specification selection

12¥/REALIE:

Material/Surface Treatment
Z=EB§ER$¥ Zinc

N=EB{EHRaE Zinc Nickel
C=BB§E¥5¥ Color Zinc

Fe=RE{EAE Black

304=304 RgE4N Stressless Steel 304
316L=316L &M Stressless Steel 316L

2534348l : Seal Material
N=NBR TS0
F=FKM &%

E=EPDM =T AEE
L=TiHEERZEIRAL

Low temperature : -50°C on request

Z-N-IKIN-0

$5FRER: Special Request
0=Tci55kER No Request
WR=FERERFEIZIF

Without Cutting Ring and Nut
(XRTFEREM-RERIEN~m)
Y=HHRERNARSES, Y 2RSS, UL
FR/9E. On Request

FTHRER: Marking Request
0=7tr No Marking
IKIN=IKIN
XX=ZFZKATEHR XX

Customer trademark

MSEPIPRY" Z-N-IKIN-0" BTRAMRERE, SEFREERLTIETREY, WRFESHES

BIE], AUMETRRRI &SRR,

The” Z-N-IKIN-0” is standard specification of IKIN. When you order this type , the specification mark can be

omitted.

ikin hydraulic

-33-

—iRRE



IKIN

TP-IEHNFTIEL1%BY / Direct Pressure Gauge Connector

EEAN: Connection Type
TP=i&EEaEz=k

Direct Pressure Gauge Connector

FiRIELER: Angle
To=EL@Ex, Straight
90=90°kf 90° Elbow
A5=45°3Zf 45° Elbow

EREDRIRL:

The thread of Pressure Gauge
G1/4"

M14x1.5

G1/2"

M20x1.5

NPT1/4"

NPT1/2"

R1/4"

R1/2"

TP-90-G1/4”-M16x2-2

£54a%8Y: Construction Type

————— T=BAK Integral Type

2=HEZ, Combined Type

JERER I T 4 Sk 1R -

Bottom Connect Test Coupling
M16x2

M16x1.5

$12.65x1.5

S=14E=/ Pin-Lock

—RRE

-34-

ikin hydraulic



IKIN

TP-IFEHDFIESL / Direct Pressure Gauge Connector

Series =_.S-erj_eé Series Series
SWL & : SWL ¢
f/ % 0-Ring .
. 7 oxine N N =
\ =
Thrust Pin
SW
. T
T T
Bi&/ Compact H&=/ Combined HER/ Pin-Lock
T TEEA (bar) piR=
Working Pressure Part Number
M16x2 630 TP-G1/4" -M16x2
M16x1.5 630 TP-G1/4" -M16x1.5
S12.65x1.5 400 TP-G1/4" -S12.65x1.5
R4EZL/ Pin-Lock 400 TP-G1/4" -S
Pressure gauge
WA [tAEARLES, AEFEEm "-2" .

Direct gauge These are integral models,the combination needs to add “-2”.
connector

Test coupling

MR EAOF+EAFEL+NEZL
Application:
Gauge+gauge connector+test coupling

ikin hydraulic -35- —IRRE



IKIN

SD-[E T IEL1EBNREE / Pressure Gauge Connector with Stud

SD-90-G1/4”-F-G1/4”-2 TR Seal Type

A=IKIN ¥R O BIE

EERBIN: Connection Type IKIN Standard O-Ring
SD=4MELIERE Stud B=2#l O BB Metric O-Ring

C=224l O BUE BSP O-Ring
D=3£t5 O B

fE: Angle American Standard O-Ring
Fo=En@, Straight E=\%l| ED B Metric ED-Ring
90=90°FBE) 90° Elbow F=2iH ED [ BSP ED-Ring
45=45°TTiE[A 45° Elbow Gﬁ?;ﬂﬁ%%ﬁi@ij;
etric Metal Sea
H=3H & BInEE
EEE DS BSP Metai/ Seal
The thread of Pressure Gauge ;= Eﬁ;iﬁf_@ﬁgger Thread
" = ILTELE £
&11/:;(1 5 Dryseal Taper Thread
G1/2" K=R 555 Taper Thread
M20x1.5 L=ZM XIS Taper Thread
NPT1/4"
NPT1/2" £E4gBY: Construction Type
R1/4" To=B4K=, Integral Type
R1/2" 2=2B5&=, Combined Type
AFERI B H TN HIURS: Sealing type and thread
M8x1 5/16-24UNF G1/8" R1/8"
AR M10x1 3/8-24UNF G1/4" R1/4"
M10x1.25 7/16-20UNF G3/8" R3/8"
M14x1.5 1/2-20UNF F RS H B G1/2" K5 R1/2"
M8x1 9/16-18UNF G3/4" R3/4"
M10x1 D& 3/4-16UNF G1” R1”
M12x1.5 7/8-14UNF G11/4" R11/4"
M14x1.5 11/16-12UN G1172" R11/2"
M16x1.5 13/16-12UN NPT1/8" M6x1Tap.
M18x1.5 1.5/16-12UN NPT1/4" LE M8x1Tap.
B & M20x1.5 15/8-12UN NPT3/8" M10x1Tap. |
M22x1.5 17/8-12UN |5 NPT1/2"
M27x2 M8x1 NPT3/4"
M30x2 M10x1 NPT1"
M33x2 M10x1.25 NPT1 1/4"
M42x2 M12x1.5 NPT1 1/2"
M48x2 M14x1.5 NPTF1/8"
M60x2 M16x1.5 NPTF1/4"
G1/8" £ AR G 7 M18x1.5 NPTF3/8"
G1/4" M20x1.5 )8 NPTF1/2"
cm G3/8" M22x1.5 NPTF3/4"
G1/2" M26x1.5 NPTF1”
G3/4" M27x2 NPTF1 1/4"
G1” M33x2 NPTF1 1/2"
M42x2
M48x2

—HRRE -36 - ikin hydraulic



IKIN

SD-IMBLLHEIEEIFRIESL / Pressure Gauge Connector with Stud

<Series

—\ 0-Ring

Thrust Pin

Direct gauge
connetor

Port connection
and seals

Sl 0-Ring

Thrust Pin

RA: EhF+EDFREL
Application:

Gauge+gauge connector

BEHER B8 G L SwW TEES (bar) &S
Seal Type Thread mm mm Working Pressure Part Number
12 19 630

M14x1.5 SD-M14x1.5-E-M14x1.5

E #U M20x1.5 12 19 630 SD-M14x1.5-E-M20x1.5
M14x1.5 12 19 630 SD-G1/4" -E-M14x1.5
M20x1.5 12 19 630 SD-R1/2" -E-M20x1.5
G1/4" 12 19 630 SD-G1/4" -F-G1/4"

F 3 G1/4" 12 19 630 SD-G1/2" -F-G1/4"
G1/2" 14 27 630 SD-G1/4" -F-G1/2"

| #U NPT1/4" 8 17 400 SD-M14x1.5-1-NPT1/4"
NPT1/8" 12 19 630 SD-M14x1.5-1-NPT1/8"
R1/4" 12 17 630 SD-M20x1.5-K-R1/4"

KEY R1/2" 19 24 630 SD-M20x1.5-K-R1/2"
R1/4" 12 17 630 SD-R1/4" -K-R1/4"

580 EfttEHFRIEiiES M 36 M, MBS KENEBEA,

For further information on Seal types, please see page 36.

ikin hydraulic -37- —IRRE



IKIN

DKO-ENFTIEL1XBY /Pressure Gauge Connector with 24° Male Cone

EER/N: Connection Type
DKO=DKO 24°§E=5%
DKO=24° Male Cone

filE: Angle

To=EL@x Straight
90=90°m]iAm 90° Elbow
A5=45°T[iEMmE 45° Elbow

EREDRIR:

The thread of Pressure Gauge
G1/4"

M14x1.5

G1/2"

M20x1.5

NPT1/4"

NPT1/2"

R1/4"

R1/2"

2585
L=82%; Light Series
S=8%; Heavy Series

DKO-90-G1/4”-L-06-2

£519388Y: Construction Type

To=2K1\, Integral Type
2=1H&=, Combined Type

L ZFIEE S RIIER
Tube(mm) Tube(mm)
06 06
08 08
10 10
12 12
15 14
18 16
22 20
28 25
35 30
42 38

—iRRE

-38 -

ikin hydraulic



IKIN

DKO-IENFTIESL / Pressure Gauge Connector with 24° Male Cone

Series Series
— — CLL y O—Ring
ML o % O-Ring R
i Thrust Pin
0—Ring SW Thrust Pin
- 0-Ring
Y ._‘4
(‘}p Il
Pressure Gauge T
Fig.B

=

Pressure gauge with
24° male cone

-
N

AN
RNy

TRNER

A

i
I

Mo
RIFE: EDFR+EFRESL +EeEsk %—
Application:
Gauge+gauge connector+adapters Fig.C

#5" Eizo | #BgG L Sw Ei TEEH (bar) =
Series Tube Thread mm mm 19: Working Pressure Part Number

M12x1.5 154 17 A/B 315 DKO-G1/4" -L-06

8 M14x1.5 154 17 A/B 315 DKO-G1/4" -L-08

10 M16x1.5 16.4 19 A/B 315 DKO-G1/4" -L-10

12 M18x1.5 16.9 22 A/B 315 DKO-G1/4" -L-12

L 15 M22x1.5 20 27 C 315 DKO-G1/4" -L-15
18 M26x1.5 22 32 C 315 DKO-G1/4" -L-18

22 M30x2 22 36 C 160 DKO-G1/4" -L-22

28 M36x2 28 41 C 160 DKO-G1/4" -L-28

35 M45x2 34 50 C 160 DKO-G1/4" -L-35

42 M52x2 37 60 C 160 DKO-G1/4" -L-42

6 M14x1.5 154 17 A/B 630 DKO-G1/4" -S-06

8 M16x1.5 16.4 19 A/B 630 DKO-G1/4" -S-08

10 M18x1.5 16.4 22 A/B 630 DKO-G1/4" -S-10

12 M20x1.5 18.4 24 A/B 630 DKO-G1/4" -S-12

S 14 M22x1.5 21 27 C 630 DKO-G1/4" -S-14
16 M24x1.5 22 30 C 400 DKO-G1/4" -S-16

20 M30x2 25 36 C 400 DKO-G1/4" -S-20

25 M36x2 28 46 C 400 DKO-G1/4" -S-25

30 M42x2 30 50 C 400 DKO-G1/4" -S-30

38 M52x2 30 60 C 315 DKO-G1/4" -S-38

WEE: [1FRF: L I8REES, S I8EEHRY / L=Light Series, S=Heavy Series
RIEAEAREE, BENBEM 2" |, L/S KFIND6 210 12, ELBRMEN, B Fig. A B&{#0 Fig.B HA™, H

HRA Fig.C —FBET. /These are integral models,the combination needs to add” -2” .The L/S series from 26 to

@ 12 has two structures, Fig.A integral and Fig.B combination;, the rest are combination of Fig.C

ikin hydraulic

-39-

—iRRE



IKIN

BH-[BtRIVEDFRIELIXE / Pressure Gauge Connector with Bulkhead

BH-90-TH-M16x2-G1/4”-2

£54a%BY: Construction Type

Fo=24Kx=, Integral Type
2=2B&=, Combined Type

EEAN: Connection Type
BH=F@iR={ Bulkhead

AlRIEL KA Angle ERENDFRIRL:
Z=EBz\ Straight The thread of Pressure Gauge
90=90°%kf8 90° Elbow G1/4”
45=45°3f 45° Elbow M14x1.5
G1/2"
M20x1.5
NPT1/4"
NPT1/2"
JEEaR&E % EEY : R1/4"
Bottom Connection Type R1/2"
TH=1&EZNEERE Test Hose
CR=FEXERE Cutting Ring
JIC=JIC JMRBGERE

ORFS=0RFS JMBEIER:
RSB A RIS BIRI NAEL S
Bottom Connection Type
TH CREmE Jic ORFS
s8S sES s8S
M16x2 LEF | SES 06 06
M16x1.5 06 06 08 08
$12.65x1.5 08 08 10 10
@R/ Pin-Lock| 10 10 12 12
12 12 16 16
15 14 20 20
18 16 25 22
22 20 30 25
28 25 38 30
35 30 50 38
42 38 [BTEJICIERLATEIE ORFS ik
. RS, |RIREL
Please see page17- Please see  |Please see
18 page 12-14. |page 19-21.

—iRRE

-40 -

ikin hydraulic



IKIN

BH-[BtRIVEDFRIESL / Pressure Gauge Connector with Bulkhead

JREMEIENEERES / Bottom connect with test hose
G1/4”.

SW19 & L
‘\ ? 0-Ring

SWig

Bottom

Gl/4”

S‘ﬂ\?y % 0-Ring

SW19

Swi2

RZF: ENFR+ENREL+RESK
Application:

Gauge+bulkhead connector+hose assembly

Fig.B Fig.C

TEEA (bar) 15
Working Pressure Part Number
630

M16x2 A BH-TH-M16x2-G1/4"
i M16x1.5 A 630 BH-TH-M16x1.5-G1/4"
$12.65x1.5 B 400 BH-TH-S12.65x1.5-G1/4"
HiER/Pin-Lock C 400 BH-TH-S-G1/4"

BE: [ XES, BEAFEM" -2" AEEEERA, TAS.
These are integral models, The combined should add a “-2” .
KE P REREENER E RS RS EE.

The bottom of the connector which connect test hose does not include check vavie.

ikin hydraulic -41 - —IRRE



IKIN

BthEHFRIEL / Other Pressure Gauge Connector

Series

SW1

0-Ring

SW3 W doRing

SW1

IKIN [

IKIN

i%BA: [1]Series €4&/ Series including: G1/4" /M14x1.5/G1/2" /M20x1.5/NPT1/4" /NPT1/2" /R1/4" /R1/2" .
[RIES EOFELSERNRESEAMATNERSIAE,

For more pressure gauge connector selection, please refer to the test coupling selection.

— R E -42 - ikin hydraulic



90°#0 45°0Ji@m / 90°&45° Elbow

Ny

N
\D =
2 |2 7 %
= = N g |5
— mQ 4 Ik
2 =
=4 5

SW
ED-Ring

WA [IFrBEAFRELIIAIM 90°F0 45°@Mm, NBERKISEA.,
All pressure gauges can be designed with 90° or 45° Elbow, please contact us if you need.
[2190°F0 45 AR S MR EBR SNBSS e —F;
For the 90° and 45° Elbow coupling ,parameters are same with the straight couplings.
BIESRFEXNATEIEIUELAIEL S AN L 90 5 45 I,
fign: SD-G1/4" -A-M8x1 i9iESk, FHEMEF 90 F RS, BSTE)y: SD-90-G1/4" -A-M8x1
The part No. only needs to add 90 or 45 to the middle of the corresponding straight connector.

ikin hydraulic -43 - —HRRE



IKIN

RES SRk NiEL / Hose Assembly and Fitting
ERE 2 B ER -

Hose Assembly Specification Selection

% !

N
i} L -
2H63/TP-M16x2/GA-G1/4" /10
RERS WERLES WEFLES EREFKEE L/100(8 {3 : mm)
Test Hose Hose Fitting Type Hose Fitting Type Length

Hose Assembly Specification Selection

Z-N-IKIN-0-(0) -0-0

REELHIE EXERIF: Hose Protection YSFRER: Special Request
Hose Fitting Specification Fo=FHaABHF No Protection 0=FAFHEXK No Request
AEEREY (0) FFVERHERATIE 1=FRifrE38EE Antikink Spring WR=F&-FER FEIRIE
5, RBU&EK. /No special 2=BERPE metal sheath Without Cutting Ring and Nut
requirements (0) can be omitted ((XBFE&EENREZIERIZR)

Y=HERNNEHES, Y 2RSS, U
SCRRAE. On Request

<&/ Circlip E{#®iP/Hose Protection
TENRE E ERERIFE
Steel Stainless Circlip Antikink Spring

— R E -44 - ikin hydraulic



IKIN

RE SRk RIEL /Hose Assembly and Fitting

MERERS:
Test Hose
’2 H 6l 3

KRIFER: EREER: TWEEN:
2=2mm H=#O4RE High Pressure 63=63Mpa
3=3mm G=EF=#& Low Pressure 40=40Mpa
4=4mm 28=28Mpa
6=6mm

RS BlFEmm) | BBRES(bar) | REE S (bar) T{EiRECC)
Type Bending Radlius Test Pressure Burst Pressure Work Temperature

2H63 2.0£0.1 5.0£0.1 20 950 2000 -35...+100
2G40 2.0£0.1 5.0£0.1 20 600 1200 -35...+100
3H63 3.0£0.1  6.1£0.15 30 950 1900 -35...+100
3G40 3.0+0.1 6.0£0.1 30 600 1200 -35...+100
4H28 4.0+0.1 8.6x0.1 40 420 840 -35..+80
4G28 4.0+0.1 8.6x0.1 40 420 840 -35..+80
6H28 6.4+0.1 12+0.1 32 420 800 -35..+80
6G28 6.3£0.1 12.7£0.1 32 345 800 -35..+80

ikin hydraulic -45 - —IRRE



IKIN

EREIESLIIRIEIE / Hose Fitting Specification selection

2/ REAL IR :

Material/Surface Treatment
Z=EB{ER¥E Zinc

N=EEESREaE Zinc Nickel
C=RE§EREE Color Zinc

Fe=EB$E&=E Black

304=304 55X Stressless Steel 304
316L=316L &N Stressless Steel 3161

S L. Seal Material
N=NBR T &5
F=FKM &%

E=EPDM =AM
L=TiHRRZEIRAL

Low temperature : -50°C on request

Z-N-IKIN-0-(0)

$5FRER: Special Request
To=TFHFHEK No Request
WR=AERERREIERIE

Without Cutting Ring and Nut
(XRTFEREM-RERIEN™~m)
Y=HHERNANBHEE, Y ZRS, AL
Fr/9E. On Request

B Circlip Type
0=F+FKZE No Circlip

1=304 K% Circlip 304

2=316L <& Circlip 376L

$THRER: Marking Request
0=F%wtr No Marking
IKIN=IKIN

XX =2 FZKATEHR XX

Customer trademark

—iRRE

- 46 -

ikin hydraulic



IKIN

ERNEESLi%BY / Hose Fitting

GA-EIRENFIEL/ Pressure gauge fitting

TEES (bar) il
Working Pressure Part Number
M14x1.5 17 17 630 GA-02-M14x1.5

G1/4" 630 GA-02-G1/4"

SW G1/2" 26 24 630 GA-02-G1/2"
M20x1.5 26 24 630 GA-02-M20x1.5
NPT1/4" 17 19 630 GA-02-NPT1/4”
NPT1/2" 26 24 630 GA-02-NPT1/2"

R1/4" 17 19 630 GA-02-R1/4"

R1/2" 26 24 630 GA-02-R1/2"

TP-EENEERL/ Fitting for test coupling

THEES (bar) S
i Working Pressure Part Number

M16x2 630 TP-02-M16x2
—| SW M16x1.5 23 19 630 TP-02-M16x1.5
t S12.65x1.5 19 17 400 TP-02-S12.65x1.5
1

% | ERo| BYG SW | L{EEAH (bar) i
Series | Tube Thread mm mm | Working Pressure Part Number
) 6 M12x1.5 15.4 315 DKO-02-L-06
O-Ring 8 M14x1.5 = 15.4 17 315 DKO-02-L-08
10 M16x1.5 16.4 19 315 DKO-02-L-10
12 M18x1.5 16.9 22 315 DKO-02-L-12
6 M14x1.5 15.4 17 630 DKO-02-S-06
s 8 M16x1.5 16.4 19 630 DKO-02-S-08
10 M18x1.5 16.4 22 630 DKO-02-S-10
12 M20x1.5 18.4 24 630 DKO-02-S-12

EBE: [1]=4#23L79 DN3/DN4/DN6 B, $ESHR) 02 530879 03, 04 5 06 BIE].
When the fitting is DN3/DN4/DN6, replace 02 in the part No. with 03, 04 or 06.

REDRPHRSHLIRERRE, fli0: GA-02-G1/4" EERRFHEEN GA-G1/4”
The part No. in the hose assembly is to be omitted, for example: GA-02-G1/4” is GA-G1/4” in the assembly.

[21E L BV STHK B IRIBEIIRML; /Other fitting types and lengths on request.

ikin hydraulic - 47 - —IRRE



IKIN

EXEEL&ER! / Hose Fitting

SD-YMEBSLEE/ Fitting with Male thread

mHFR|  BYG L SW | IfEES (bar) RS
Seal Type Thread mm mm Working Pressure Part Number
E & 12 19 630

M14x1.5 SD-02-E-M14x1.5
M20x1.5 14 27 400 SD-02-E-M20x1.5
F #U G1/4" 12 19 630 SD-02-F-G1/4"
G1/2" 14 27 630 SD-02-F-G1/2"
| #U NPT1/4" 16 17 630 SD-02-I-NPT1/4"
NPT1/8" 10 17 400 SD-02-I-NPT1/8"
K & R1/4" 12 17 630 SD-02-K-R1/4"
R1/2" 19 24 630 SD-02-K-R1/2"

BJ-£45%3\i%E3&/ Banjo fitting

. 124 G L SW | ITEEH (bar) &S
Combination
seal Thread mm mm Working Pressure Part Number
19 14

G1/8" BJ-02-G1/8"

G1/4" 26 19 200 BJ-02-G1/4"
G3/8" 32 24 200 BJ-02-G3/8"
M10x1 19 14 200 BJ-02-M10x1
M14x1.5 26 19 200 BJ-02-M14x1.5

PM-Em®EEI/ O-ring flat seal fitting

TIEEAS (bar) B
T L SW m,_ 7 =
Working Pressure Part Number
17 17 630

G1/4" PM-02-G1/4"
M14x1.5 17 17 630 PM-02-M14x1.5

SW

e T o

WiBA: [1]1=5%2L79 DN3/DN4/DN6 B, A5 02 55IE#R /9 03, 04 & 06 BIH],
When the fitting is DN3/DN4/DN6, replace O2 in the part No. with 03, 04 or 06.
WERMPHRSERRERNRED, Fla0: SD-02-E-M14x1.5 FERLFRIEIS A SD-E-M14x1.5,
The part No. in the hose assembly is to be omitted, for example: SD-02-E-M14x1.5 is SD-E-M14x1.5 in the
assembly.
[ E LRI ST B RIIRIBENKIZM, /Other fitting types and lengths on request.

— R E -48 - ikin hydraulic



IKIN

EREIESLI%BY / Hose Fitting

JIC-37°BLBLER/ Sealing with swivel nut 37° cone

WG | ERmm) | ERGnch) | L | SW | THEEH (bar) pil=
Thread Tube Tube mm | mm | Working Pressure | Part Number

3 7/16-20UN 1/4" 18 17 350 JIC-F-02-06
SW 1/2-20UNF 8 5/16" 18.5 17 350 JIC-F-02-08
@ 9/16-18UN 10 3/8" 18.5 19 350 JIC-F-02-10

—

JIC- 37°9I\ﬂ§ﬁ1§#§/ Fitting with Male thread

B G | HiE(mm) | B1E(inch) L | SW | IT{EEA (bar) il
Thread Tube Tube mm | mm | Working Pressure | Part Number

7/16-20UN 6 1/4" 14 17 350 JIC-M-02-06
1/2-20UNF 8 5/16" 14 17 350 JIC-M-02-08
9/16-18UN 10 3/8" 14.1 17 350 JIC-M-02-10

THEEA (bar) RS
Tube Work/ng Pressure Part Number

TB-02-06
8 20 630 TB-02-08
10 22 630 TB-02-10

WiRA: [1]=5823L79 DN3/DN4/DN6 B, 2SR 02 55IE#479 03, 04 5 06 BIHJ,
When the fitting is DN3/DN4/DN6, replace 02 in the part No. with 03, 04 or 06.
RECRTFNESHERERMRED, Fn: TB-02-06 FEEBFHIEIS A TB-06,
The part No. in the hose assembly is to be omitted, for example: TB-02-06 is TB-06 in the assembly.
[1E L BV STHK B IRIBESIIRML,; /Other fitting types and lengths on request.

ikin hydraulic -49 - —IRRE




IKIN

EXEEL&ER! / Hose Fitting

CR--REIMELY/ Male thread for 24° cone fitting

3 |ERFo #BLgG L sSW | IfkEA (bar) BsH
Series | Tube Thread mm mm Working Pressure Part Number
6 10 17

M12x1.5 315 CR-02-L-06
L 8 M14x1.5 10 17 315 CR-02-L-08
10 M16x1.5 11 17 315 CR-02-L-10
6 M14x1.5 12 17 630 CR-02-S-06
S 8 M16x1.5 12 17 630 CR-02-S-08
10 M18x1.5 12 19 630 CR-02-S-10

)

7 i

B G | ERmm) | EfRGnch) | L | SW | THEEH (bar) RS
Thread Tube Tube mm | mm | Working Pressure | Part Number
6 10 17 3

h\““.“\““‘\\

9/16-18UNF 1/4" ORFS-M-02-06
5/8-18UNF 8 5/16" 10 19 630 ORFS-M-02-08
11/16-16UN 10 3/8" 11 19 630 ORFS-M-02-10

ORFS-IBBLEE/ ORFS female thread fitting

1B G R mm) | B{RGnch) L | SW | TEEHD (bar) il
Thread Tube Tube mm | mm | Working Pressure Part Number
9/16-18UN 6 1/4" 185 19 ORFS-F-02-06

5/8-18UNF 8 5/16" 16 22 630 ORFS-F-02-08
11/16-16UN 10 3/8" 17 22 630 ORFS-F-02-10

SW

WiRA: [1]=5%23L79 DN3/DN4/DN6 B, 2SR 02 55IE#R/9 03, 04 5 06 BIHJ.
When the fitting is DN3/DN4/DN6, replace O2 in the part No. with 03, 04 or 06.
REDRPHRSHLIRERRE, Al CR-02-L-06 FERRLFHIELSH CR-L-06,
The part No. in the hose assembly is to be omitted, for example: CR-02-L-06 is CR-L-06 in the assembly.
[1E L BV STHK B IRIBESIIRML,; /Other fitting types and lengths on request.

—HRRE -50- ikin hydraulic




IKIN

90°&45°IRETL / 90°&45° Hose Fitting

0-Ring

A [ATEREEEIA 90°F0 45°8R, WNBHKIBEEEBES,
All hose fittings can be designed with 90° or 45° Elbow, please contact us if you need.
[2190°F0 45° AR LSS REBIELEL S 54
For the 90° and 45° Elbow fitting ,parameters are same with the straight fittings.
BIESRFEXNATERBIUELAIELSPEIN L 90 5 45 I,
Bian: GA-02-G1/4" A9k, FEER 90 mrfEmiEskat, BS3EEN: GA-90-02-G1/4”
The part No. only needs to add 90 or 45 to the middle of the corresponding straight connector.

ikin hydraulic -51- —IRRE



IKIN

FEeiEiER BB / Connection Instructions

Bt—: AR

Prassure gauge

Hose assembly

Hose assembly

Test Coupling

El—/ Figure 1

B/ Figure 2

E—EEAn: EAE+TP RER+ERL, "L
BERTHFES.
Figure 1 : pressure gauge + TP hose assembly +

test coupling, this connection can be disassembled
at any time.

B TEEATN: EHE+SD RERM, ERIREE
1B, BILMRED.

Figure 2 : pressure gauge + SD hose assembly, this
connection can be removed when there is no
pressure in the system.

—HRRE -52- ikin hydraulic



IKIN

M3 / New Products

KiBEMEREL

Bigger Flow Rate Test Coupling NPT $6i54%3k/ NPT Thread Adaptor

SOC Rk E#k
SOC Hose Fitting with Check Valve

DKO-04LLERE L/ 04LL Hose Fitting DKR RE#&k/ DKR Hose Fitting

ikin hydraulic -53- —HRRE



IKIN
HemEX / New Products

DKO-EREEEk
Hose fitting with DKO Adaptor

TP-IRE LR
Hose fitting with TP Adaptor

1818/ Shuttle Vale

B IKIN U= moh, AR LUARIEEFEREMESI R, NERKIEHEBEN.
In addlition to IKIN test products, we can also provide customized products according to customer needs, please call us
if you need.

—ERE -54 - ikin hydraulic



IKIN

£33 / Pressure Gauge

AREEFFARNRATRR, REFRERENEDR

Different ranges of pressure gauges can be provided according to different application .

MhRE / Test Kit

ATHEEFPHER, BINRHIXE, FIBRIELHIEDRTRETRIERE.

Pressure Test Kit is provided according to your requirement.

ikin hydraulic -55- —IRRE



